2) A de] = LA, [Jrdy]
c A
=/ o — [T , — /. "1_’7\ /] IR
= T (e WAL | = Yy LAYIad | ] \Jaco |
Y 7
= &)
(@)
= O
— ~ < | _~ | S & .
3 I 3 &X“r{{ = 7efzu/ XQ.FM;X“««A/ = M)[)OL.KVQ_FMJGLJ‘JM
7 SR A J T ! a / '
' . [ . A°®_ - _ \
= 2 éjm ({XL/X::S(?M + ><g, \/_xk\/w.r—] E
I/ZM' \l-h ]/ ! L/\/A{‘%’J P4
} ( & Sk
= ? St b=k Sjen Xz
Laan
)L;\lﬂkk = _? é‘tgnv‘ {fl,,\\X,a‘ Par
|y Ty | Cad = ST =) i
= "'?f Syhwe fﬂt;xx,,( é"'m = ¢ éjkm P
jVV\ L./’?/\.a I
~(h Sed
l L[\ PZ,_L 5 ? /(»(\p.f’,( = 2 2—(/(&?: IZ7 + B[[Cc\; l
~ J | .) = JvJ J J i 7 CALS
e B SN
= 4 P Cgn e tlilk])
J
Le, " =« éx, z /szq *qu‘t‘) "'Céx’f%(‘%l/‘t “quﬁ) =0
H gty 2

§
8




T~

x

7r’

]
]

(SW %,;i; w/{;( frwv’%j)

(1
N

7

Cm(v\ \le-MS’ @ w,k(,, ZEexs Q@/tw velre oye

A e dy > = dne | 00 AN (91 =3\ >
g ~= N\ )

2
T,%J; il ddi =gy d o>
P hoa
? R 2 ) TGy
3 3 = vy
Py N g e (e T e (TG, )
RSN LA SRR A ’
N = "2~
s =da
<

2
e ) S / AR Y { / I:Z__lll = ‘oo o
Sl 7= Ny [ = <m T e T >=J(j4)-w
2.

YO8N

2 A
oo E = “/MB%M + @5’% M- *‘(Glzz ‘\’Q\\B ST
=z

7 ~
‘&. / @,1“&2!)
20 N\ 4




n #1
n199;:= SAssumptions = {b > 0, a > 0}
our199= {b >0, a >0}

K ~-1/2

2
Inj200y= PSi = Exp[-ax?]
a

outoo= at ( ]

n201)= Integrate[psi?®, {x, -, oo}] // PowerExpand

outj201}= 1

202~ Integrate [psi (Exp[-xz/bz]) psi, {x, -~®, @}] // Simplify

oul[202)= \/ 2

n203;= Integrate[psiD[psi, {x, 2}], {x, -, ©}] // Simplify

outf203]= —a
-h? a gy =1/2 ) .
204~ energy = — (-a) -V0 42 /.b>10. (mvo/n?) // Simplify
2m 2a+=3
b
a a h?
Outj204}= ~/ 2 VO +
0.01mVvo0 2m

2a+ 5
b2

neos)= D[enexrgy, a] // Simplify // Together

-0.00707107m?v0? |—2—— +0.005amV0An2+1,. a?hn?
2 a+

0.01mVvo0
B2

Out[2085]=
m (0.01 mvo + 2. ahz)

Inj206]= Solve[% == 0, a]

0.0744931mV0}, {a R 0.0669946 mVO}}

Out[206]= {{a - -
hZ

hz
0.06699461793568152™ m VO
ﬁz

nj207}= energy /. a -

outz07)= -0.931153 VO




